Physics 222, Spring 2010 Name: K Coy
Quiz 6, Form: Date: /

Instructions
You must sketch correct pictures and vectors, you must show all calculations, and you must explain all

answers for full credit. Neatness and organization is required. Points will be taken off for sloppy work.
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Section 1. Multiple Choice

Questions 1-3: A negatively charged particle travels Questions 4-6: An atomic magnetic dipole is in a uni-
in uniform circular motion along a path of radius R form magnetic field and oriented opposite the field as
shown in A. It then “fips” to the orientation shown
in B. This is one part of the phenomenon that occurs
in magnetic resonance imaging, for example.

A B
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Define +xz to the right, +y upward toward the top of 1 i
the page, and +=z outward toward you, perpendicular
to the page.
B-field B-field

1. The direction of the magnetic field in this region
is

(2) +m : . ,

(b) - 4. Which energy state has a higher potential en-
ergy?

{¢) 4y @ A

(e} 4=z

(c)  neither, because A and B have the

@ -z SaImne energy

()  None of the above because it is zero.

5. As it changed from state A to state B, did the

' system emit a photon or absorb a photon?
2, If another particle has a larger mass, but the

same charge and speed, then the radius of its {a)  absorb a photon

path will be A f‘/} P Wias ﬁ)) emit a photon
@ greater. 5 /é (c})  neither, because its energy did not
hange.
(b)  less. ¢
ol - A A S
{c)  the same. R = wY [6 L Lg Ca —th f; ’

L Ly
5[3 7[@— £ t;{‘;‘fv-m. /G..?f e"‘u/‘;;/
6. What is the magnitude of the change in the en-
ergy of the system and therefore the energy of

i 7
3. If another particle has a larger magnitude the photon emitted or absorbed?

charge, but the same mass and speed, then the {(a) zero, because no photon is emitted or
radius of its path will be absorbed in this process )
W
(a)  greater. (b) lﬁ; B MA - — /,{ 56:&;; (e

less. {c¢} uB — bt fb )
{c) the same. @ 2uB /l
Uy = ~poe

M= -ty = =28

(LQ) = 5



Questions 7-8: The device below is designed to make
a dipole magnet turn. In A, current flows through the
top coil as shown in the diagram. In B, current fows
through the coil on the right as shown. The dipole
magnet in the middle of the device is not shown in

diagram B.
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7. As the device changes from A to B as shown in
the diagram, will the dipole magnet in the mid-
dle rotate clockwise or counterclockwise?

- -
clockwise ‘Zj p i’“’” A

b counterclockwise

(b)
(c)

off
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neither, because there is no torque on
the dipole magnet

8. In this device, electric current flowing through
coils causes a magnetic dipole to rotate. What
is this device called, in general?

(a)  the Zeta Magneteta

(b & freakin’ awesome device
@ an electric motor

(d)  an electric generator

Questions 9-13: A magnet moves at constant speed
toward a wire loop as shown below.

N

Define +x to the right, +y upward toward the top

W?tﬁf@ @

i

Q"l T3 s ‘_:I?Cr:" .

of the page, and +z outward teward you, perpendic-
ular to the page.

9. At the center of the loop, what is the direction
of the magnetic field?

(a) 4z
(b)) -—=x
(¢} +y
Y
+z

—Z

(e)
(f)
(g)

None of the above because it is zero.

10. What is the direction of the change in the mag-
netic field at the center of the loop during some
time interval At?

(a) +=z -3
(b) -z s & sree= D
i_z ; 3 f\’A\-WQ‘&“} L
e} +z b/

(f) —z
(g)  None of the above because it is zero.

11. What is the direction of the electric field in-
duced at location P inside the wire?

(a) -z : amts o FY
() -z Aleensd f \/
(e) +y el

(d) -~y

(f) -z

None of the above because it is zero.

(g)

12. Suppose that the emf induced around the loop
at the instant shown is €. If you replace the
loop with a coil of the same radius, but with N
turns and repeat the experiment, then the emf
induced around the coll at the same instant is

(a) Ariak_ 6 ;& e._ﬂ-ff‘Lt /"”/ﬁ
(b)

the same, €
e/N

Ne

None of the above because 14 is zero.

(d)
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13. If you remove the wire loop but leave point P
at its exact location and repeat the experiment
with the magnet moving toward the loop, then
the curly electric field at location P at this in-
stant is '

(a)

zero because the loop is required in or-
der for there to be a curly electric field

’}Vk at location P.
@ the same as when the loop was there.
(c)  non-zero, but less than before.
(d)  non-zero, but greater than before

Questions 14-20: A positively charged ion with
charge --e travels at constant velocity through
charged plates. After emerging from the plates, it
travels along a circular path at constant speed un-
til it strikes a detector (which is not shown). All of
this takes place in a region of uniform magnetic field,
which is the shaded region shown in the picture be-
low.

14. At point P, what is the direction of the mag-
netic force on the ion?

-1 O e W oo

15.

16.

18.

What is the direction of the magnetic field in
the shaded region? Define 4z to the right, -y
upward toward the top of the page, and +2 out-
ward toward you, perpendicular to the page.

() +z =

() -z Mo = r

@ 4y ” 7

@ -y hopa =7 o
N - +*

6 -z (=

()  None of the above because it is zero.

What is the direction of the magnetic force
on the ion as it is traveling between the

plates? Y
(a) +z % v
(c) +y
Fm 9
.@ =Y
{e) +z
H -z
(2) None of the above because it is zero.
S
Fg[u-
. Which plate must be negatively charged?
the top plate ’;
(b)  the bottom plate r‘"‘:‘/
(c)  The plates must be neutral since the
electric force must be zero for the ion
> to travel at constant velocity.
iy sl heed — plade
IQ(QC.— O~ e 1T p

The magnetic field is 0.5 T, the plates are sep-
arated 1 cm, and the ion's speed is 1 x 10°
m/s. What is the potential difference across
the plates? (Hint: start with Newton's second

law.} \/4.’:{«\&1"!7 IQ(ELC’/’(!/“

() 5x10* V = -
500 V el Foel © "“m7
(e) b5x10° V ‘ A
@ E=77%

2000 V LFom
o é”“‘\xﬁl\
~— 6( -



19. If the radius of the circle is 10 cn, what is the ~ 22. Which end of the wire will be negatively

ion. in ke? : ?

mass of the jon, in kg7 » 6 . V@c. charged? e’ 14

(a) 1.67x 10727 kg f 7 . the bottom end 1| '~ ¢ .

- @ e
(b) 23x10°% kg Ry, (b)  the top end , \L :) Q(LJ‘
(c) 6.7x10°% kg ? 3 o B
—26
d) 33x10~% k z
((j)) 8.0 x 10~ kg M PEQ: Jreo
’ g 23. Once the wire becomes polarized and reaches

equilibrium, then the net force on a mobile elec-
tron is zero. I the magnetic field is 0.1 T and
the wire is 10 cm long, what is the emf across

20. Of the following choices, what type of atom
must this be? (This is the goal of mass spec-
trometry: to identify atoms by mass.)

—7 the wire if the wire is moving at a speed of 0.5
{a) N (14.0 g/mol) r/(b — (& )xva ; m/s? F-ffc = fa
(b)  Si{(28.1 g/mol) P L6 ) (a) 001V 'ZF - fwé(/
@ Ti (47 g/mol) K2 = PX2 - S 4y o5y

~ oS
Q) As(T49g/mal) Mp  1eV¥d K E =
(d)  As (74.9 g/mol) / (& o002V FL = viL

(€)  Au (197 g/mol) <~ 9 0.005 V m%l = a-0sf V

{e)  zero, because there will Be Tio emf

Questions 21-26: A wire moves at constant velocity across the wire.

through a region of uniform magnetic field, which is
the shaded region shown below.

24. After becoming polarized, does current flow
through the wire?
()  yes o cloe 3 &~
(b)) mo
- o f .:.é ISl iaral
Shhe e j !
s L =0
25. What is the magnetic force on the w1re'? //
21. What is the direction of the magnetic force on zZera {__C%
an efectron in the wire? - E (b) 0QOLN s
1 1 X
' () 002N
8 2
\T / -~ (d) 005N
b A
A T . | v
/ \ N
6 4 F o 26, What force must be applied (perhaps by you if
s ¢ lo C-{ free you pull on the wire) in order to keep the wire
9 zero magnilude _ moving at a constant velocity?
(a) O0.0IN
(&) 1 (b) 0.02N
(k) 3 (¢) 005N
(€ 7 (d) ) none, because the net force on the wire
(d) 9 is zero and the magnetic force on the
5 wire is zero.

5

15 g - e

L0, LQJ‘ Iy



27. Now, suppose you connect the wire to other  28. In what direction is the net magnetic force on
wires to form a loop and you repeat the ex- the loop?

periment, as shown below. 1
— e
_— ;
\ / Lol (x?

7 e ey 3 ,

AN, L

9 zaro magnitude

-
In what direction does current flow around the (2) 3 FI .g
loop? hre
(b) 2 /
(a)  clockwise @ 7
“‘t counterclockwise (d) 8
(e} 9

29. If the resistance of the loop is 2 {2 and if the
emf if 0.001 V, what is the current through the

loop?

(a) 2x107% A '

(b) 1x10°% A Nf T g_,,fg' )
@ 5x 1074 A ﬂ\f""" L It
(d) 1x107* A il ke
(&) 2x107% A J

€
< o.oatlVv
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Section 2. Problem Solving

30. A coil of wire is connected to a power supply, and a current runs in the coil. A single loop of wire is
located near the coil, with its axis on the same line as the axis of the coil. The radius of the loop is 3

Ccol.

F

At time t; the magnetic field at the center of the loop, due to the coil, is 0.6 T and constant due to
current in the coil,

(a) At this time, what is the magnetic flux in the loop?

T < QA = (eTYTIR™ = 00017 To=

(b) At this time, what is the emf induced around the loop?

'y —— .
E tecf;ﬁ — 0 St ® s crm--f"{‘ﬁw"""

(c) At a later time ta, the current in the coil begins to decrease such that the rate of change of the
magnetic field at the surface of the loop is —0.25 T/s. At this instant, what is the emf around the

loop? {Just report the absolute value of the emf.)} g - d & e .f:-[ I LA )

.

dE _ —par L st 0
it s 0 )
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(d) What is the magnij;.lde of the electric field at location P inside the wire? 7 07 ‘K /O
=z &

< - PO -] C(C . 8

“ § E C= 77k ___M

£ Gm Ry - = 00707V Go707 V M
T (0. 05

(e} If the resistance of the loop is 0.5 §2, what is the current in the loop?
S= AV = I@ (i 7

| A V
¢ = TR — o o
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31. An alpha particle enters a region of uniform magnetic field 5 =

perpendlcula.r to the field. Its speed is 5 x 10° m/s, and its path is shown below.

(0,0,1.54) T with a velocity that is

{a) By applying Newton's second law for uniform circular motmn derive an expression for the radius
of the alpha particle’s “orbit.”
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(b} What is the radius of the alpha particle’s path in this case?
Q= m
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f

A L(“"”\/J
= 4 h(o?‘ff'foﬂnf/f>
_((p.(gﬁxzéljl‘;_)(fk:of?) b

bl x 0 7k
—_ { “/?C) 7
&'«Ewm’“""?c)(l\w?'\) 02 = +2(laxio
=[eoeerr -

e
= 3axme C©
: o Q) .ﬁ) (‘\f e N
(c) What is the period of the alpha particle’s motion?
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Section 3. LABRB

32. A speaker has three essential parts. One of them is the speaker cone, which in our case in lab was a
cup. What are the other two essential parts?

R L] r 3
& Col ( c.,-._c( o ;Mc:) et C - €. PUW\‘&“M‘]— vb\m:j et

33. In class, we derived the force of a magnetic dipole y; on another magnetic dipole o that are aligned
on the same axis. The resulting expression showed that the magnetic force {of attraction or repulsion)
varied as F' o ;17 where r is the distance between the dipoles. By playing with the magnets, you found
that & single dipole could lift up another dipole that was sitting on the table. As you moved the dipoles
closer a small displacement Az, you found that it could produce a very large increase in the force. If
you decrease the distance between the two dipoles by a factor of 1 /2, by what factor does the force

increase? - ’l_ ’\’ | " .____l_”m ) \ | :!W}:’:;
f o~ ‘_L{ 2 - j @_’ )“f _!_,EL_;_ E&J

34. In what direction is current flowing in the wire on my shirt?

r"C(Cs.J"-w o—\cf 7(1 /]l?,Q__ [Qu[\-,L " (O("‘ i\,___m)r:_rvcr Cj_DB "IX ék ']L{Q‘

e

35. A primary coil and a secondary coil are set up in lab with their axes aligned. The primary coil is
connected to a function generator which produces an AC current in the coil as shown below.

Cuzrent through the primary coil . o - A—g{_ﬁ
1t slope iz et L= L 't

Y —
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On the same set of axes above, sketch the induced emf across the secondary coil. Your sketch should
be neat and clear. Its shape and where it crosses the horizontal axis are important.
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36. Suppose that the current in the primary coil is changed to a sinusoidal function as shown below.

1ve 1iof @ sing wavg —
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On the same set of axes above, sketch the induced emf across the secondary coil. Your sketch should

be neat and clear. Its shape and where it crosses the horizontal axis are important.
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